CHAPTER 10 REVIEW: Old Exam Questions ’ Outcome R1
June 2015
Question 32 a) 2 marks b) 1 mark
Given the fanctions f (x)=x+2 and g(x)= ——E—S :
x —

a} Determine the equation of the composite function f ( g(x)) and its domain.
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b} Determine the x-intercept and y-intercept of F ( g (x))
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Question 11 ! marks

The domain of f(x) is x £ 2. The domain of g(x) is x2 7. S; (]\ g‘t
State the domain of f{x)+ g{x).

&%
Tustify your answer. fD [ 5 3] 1S ée@%?é 3 )
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Question 14 ' Egi-h g ard 3’ 2 marks
Given the graphs of f(x} and g{x}. sketch the graph of g{x}— f{x).
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Question 42

a) 2 marks b) 1 mark
a) Given the functions f{x)}=+4+x and g{x)= |3.1: - 6| , evaluate f(g(—S)) .

(-5) = [-9— e
b} Is it possible to evaluate g( f (—5))’? 9 ) l 3 S) ¢ ) K—(Q\) 9 +Qf

Justify your answer. = l 1S 'b‘ = \-) as
$-5) = Ju+(%) = ) -3t =g
= J-l Underined = 21 i -?(3(-—5)) '::S

A/G‘ -8 is MG an downela agg
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Question &

Given the following two functions, f(x)=vx—1andg{x)=x>+1 ) =| F{31).
= 3 9(v3)= rI=J+] =
Question 37 ¥Q§" 3~} = ‘5« a) 1 mark b} 1 mark ! 3

Given f{x;)imxg‘ ~¥x-3and glx)=x+1:

%) Write fhe squation of ¥ = g{ glx)).
F40) =(9a) - Ag=) -3
= (i) - aG) -3

= Yo 243 -3
X
=x -4

b) Sketch the graph of ¥ = [{g{x]}.
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Question 49 ? marks

Given the graphs of f(x] and g{x), skeich the graph of {1 « g(x).
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Question 10 2 marks

/7{: (x) 3 (xﬁ

Given ﬁhf; graphs of f(x) and ( f —g)(x), sketch the graph of g{x).

Fx) ¥ (f-ei=) »

Question 15 1 mark

If fx)= x° and g(x)=2x -3, what is the value of i)(*l)‘? — s J"“

CL)=-l g5 7



Question 29 3 marks

Given f(x)=x>—1land g(x)=+fx+1, sketch the graph of y = £(g(x)) and state its domain,
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Question 31 1 mark
The x-intercept of f{x) is 4 and the x-intercept of g(x) is 4. £(0=0
Benjamin concludes that the x-intercept of £ {x)+ g(x) is 8. 3(4) =Q

Do you agree with Benjamin? Justify vour answer.

No! $(x)+5(1‘) meonS You add the 1*'%,'%5 %gég%\

So &4 +q(4) = 0+0=0 Thare vl be an X ::tmt;p-f
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Question 9

Given that f(x) = {(1, 3), (2, 5), (3.4), (4. 2)} find r(73). = a

=9
S = A



Question 10 2 marks

Given the graphs of f{x) and g{x) below,
7 () y g(x) y

Iy E X

sketch the praph of y = f{x) — g{x).

g X | £t ) )
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Question 41 2 marks

Given f(x)=+/x -2 and g(x)= 3x, write the equation for A(x) = f (g(x))

What are the restrictions on the domain of h{x)? h(x\ :g( }1)
Explain your reasoning.
Ix-2 20 = )3 -2
3=
n = 9/3 7

‘[ou Can not S?MW Mw"% a M.



Question 45

2 marks

, write the equation of y= f ( g(x)) and sketch the graph.

Given f{x)=x~—1and g(x)=x"
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Question 15 2 marks
Given the following graphs:
flx) g(x)
' y ¥
i i |
“ > x < > X
1 1
Sketch the graph of f(x)+ g(x)-
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Question 39 a)lmark b)lmark ¢)1mark

Given the following graphs:

f(x) v if’ 2(x) ¥y
&
1 '1 \x
3 / 1 * - / i ;\ W

a} Determine the value of [ f e W}(Q}

b oo cirele!
f)-q@) T T A e

=E0(3)
= -
b) Determine the value of g{f(4)).
Fly)= -
9 (=3

. 9(§)) = 3

¢} Determine a value for k£ where f(k)=1.

k=2 @ k=2
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